‘--—--—--—--—--—--—--—

TR294E3A3IBHE

AT A EAITE6E

SEE A AR



BEEDE
1 AREEERE
1 3

BT & i m (o) & M H =
FEH=4&EROT 53—1 1,001.65 83,136,950 = H
" n 53—3 106.84 8,867,720
" " 70—1. 3.4
y ” 70—5 8.9 228.94 19,007,000 »
" " 52—1 330.90 107,480,191f »
n " 52—2 690.00 99,006,744 #
] " 651 148.00 3,660,336| #
" " 650 446.00 11,030,664 »
] ] 51—2 99.00 33,783,240
" ] 659 100.00 11,477,536
BRI ,AT 57—2 28.63 2,900,000 »
HRRBRBT~*/671131 1,034.00 24,720,000{
" " 1132 1,784.00 52,400,000| #
& & 5,997.96 457,470,381
2 B9
i L) m (o) & % H B
EREA 13,44 EETT]
SR 2,425.83 1868
ok e e i 5,413.58 2848
S 3,153.21 1,075,654,070| 3848 -HEds
n 68.63 BWRMAw
" 571.45 2% /HHEE 54—
" 455.83 H2AEEN
" 43.46 "TRE
B ShHER 769.00 25fH
& &t 12,914.43 1,075,654,070
3 &Y
WY - ik & % B =
ERIEAN
B
AR 56,410,892
i+ BEhHEE
& it 56,410,892
4 EBEFRRABRHES
fii & % B & # W =
HREFB
MESER 49,138,359
B EHEE
& 2+ 49,138,359
5 FD{hi Ik
fil & # B & # W =
REFb
ot 4,425,202
RS HEE
= il 4,425,202
6 K&
XK F ¥R & %R #H =B
SEREAN
RE ¥
BEER 73,293,455
1R HEE
=) # 73,293,455




H O\ # B & ® H =
it B ShHEI 2 2
& &t 2
2 ZFOMOBEFEERE
1 {EHE - EES I AME
{EithMe - BES I AN ¥ B & % W =
SEREAN
RE SR 307,123,073 | Hinds
B R 453,384 ERE MM AHE
fTRHSHHEE
=3 &t 307,576,457
2 FREES
A EES & & W =
e tde g 9,940,240 | S E#(E
& &t 9,940,240
3 BHHEAE
RIS & ¥ & & MW W =
R _ 170,800,000( (#) RRFFHS
& i 170,800,000
4 BEMEASLEERE
BUREHG | Y ERS & B & M W =
FEREA
HRE B 40,000,000| B=4R9T
ROEEEEE 40,059,333 | I ERERAT
HRSHER
& vy 80,059,333
EE e
1 B&-THe
B& -1A& B & W =
EHTEE .
E=SRIT 2 1,601,531
YIRS :
ZEWRUFJERTT 1 18,639
n& 1,017,229
HiEHEE
BERIT 3 46,298,562
RERIT 5 85,438,561
HTIZEBIT 1 234,546
ZERIUFJRIT 1 757,513
DEIRRIT 1 473,440
H{EH 2 16,706,019
& 7t 16 152,546,040




2 RIRAS

O
=

UL A R & W =
REFB
SR 7,332,749 ({255 - EE B &
RShHERE Bt &%
=) Eis 7,332,749
3 Riv&
KILA L ¥ B & % W =B
REEB
BEER 2,533,492 | FMAR BT HF®RIR
1 B FHER
& TR 2,533,492
AFEDE
BEAR
1 EHEAE
EHUEAE ¥R & # wW =
BEER 180,440,000 |¥71 SAHHER
& Bt 180,440,000
B AR
1 SEHIEAE
EHEAE % B & % W =
IR 13,880,000 4571 S AR RtA%
& it 13,880,000
2 Kih&
x & R & % W B
REFB
e 6,307,634 :Bi& S
R ShHER ’
& it 6,307,634
2 Aixée
Al % & % & & % wW =
REERE ANES
SR 34,610,000 | HERR AT E &
+ B HEE
=) & 34,610,000
3 e
B & ¥ & & %
=
B 32,737,107 | B IAES
= g 32,737,107
EEEDE
EAXE
X X & & & #® W =
BLEEER. 2,737,319,728| -
%4ﬁ§*f 77,000,000
(= Eis 2,814,319,728




